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[1] 
ROLL NO..................... 

BC1GII01/22 
ANNUAL EXAMINATION, 2022 

B. COM. -I 
GROUP-II 
PAPER-I 

BUSINESS MATHEMATICS 
TIME: 3 HOURS               M.M. 75 

    MINI.M.25 
:-   

Note:  Attempt all the five questions. One question from each unit is 
compulsory. All questions carry equal marks.    

1/Unit-1 
 ¼v½ ,d uko dks /kkjk ds izfrdwy 40 fd-eh- rFkk vuqdwy 45 fd- 

eh- tkus esa 13 ?k.Vs yxrs gSaA bls /kkjk ds izfrdwy 30 fdeh- 

rFkk vuqdwy 27 fd-eh- tkus esa 9 ?k.Vs yxrs gSaA uko dh pky 

rFkk /kkjk dh pky crkvksaA      ૠ ૚ ૛ൗ  

A boat is rowed up stream 40 km and down stream 45 km 
in 13 hours. It also rowed up stream 30 km and down 
stream 27 km in 9 hours. Find the speed of the boat and 
that of the stream.   

 

P.T.O.. 
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[2] 
 

¼c½ fuEu lehdj.kksa dks gy dhft, &                 ૠ ૚ ૛ൗ  

Solve the following equations –  
ݔ − ݕ = ,ݕݔ2 ݕ + ݖ = ,ݖݕ3 ݖ − ݔ =  ݖݔ4

/OR 
,d fodzsrk dqN ia[ks rFkk flykbZ dh e'khu [kjhnuk pkgrk gSA mlds 

ikl dqy iwath 5760 :- gS vkSj vf/kdre 20 oLrqvksa dks j[kus dk 

LFkku gSA ,d ia[ks dh dher 360 :- vkSj ,d e'khu dh dher 240 

:- gSA mldks vk'kk gS fd og izR;sd ia[ks dks cspdj 22 :- rFkk 

izR;sd e'khu dks cspdj 18 :- ykHk dek ldrk gSA ;g ekurs gq, fd 

og izR;sd oLrq tks [kjhnsxk csp ldrk gS] og viuh iwath dks fdl 

izdkj yxk, fd mldk ykHk vf/kdre gks\ bl leL;k dks js[kh; 

izdzeu leL;k ds :i esa fyf[k, rFkk fQj bls gy djus ds fy, 

js[kkfp= fof/k dk iz;ksx fdft,A         

A dealer wishes to purchase a number of fans and sewing 
machines. He has only Rs. 5760 to invest and has space at most 
for 20 items. A fan costs him Rs. 360 and a sewing machine Rs. 
240. His expectation is that he can sell a fan at profit of Rs. 22 
and sewing machine at a profit of 18. Assuming that he can sell 
each item which he purchase, how should he invest his money in 
order to maximize the profit?  
 Formulate this problems as a linear programming problem 
and then use the method of graph to solve it.  

 
 

[7] 
 

/OR 
fuEufyf[kr ifjogu leL;k dks ukFkZ&osLV dkWuZj fof/k ls gy 

dhft,&           

 ૝ࡰ ૜ࡰ ૛ࡰ ૚ࡰ
ܱଵ 6 4 1 5 14 
ܱଶ 8 9 2 7 16 
ܱଷ 4 3 6 2 5 

 6 10 15 4 35 
 

Solve the following transportation problem by North-West Corner 
method –  

Origin Destination Supply ࡰ૚ ࡰ૛ ࡰ૜ ࡰ૝ 
ܱଵ 6 4 1 5 14 
ܱଶ 8 9 2 7 16 
ܱଷ 4 3 6 2 5 

Demand 6 10 15 4 35 

--------xxxx-------
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[6] 
There were two candidates for the presidentship in a student’s 
union election of the university 15% students did not cast their 
vote and 64 votes were declared invalid. If the winning candidate 
secured 49% of the total votes and wins by 805 votes, find the 
votes polled to each of them.  

/OR 
¼v½ vuqikr dh vo/kkj.kk ij laf{kIr fVIi.kh fyf[k,A             ૠ ૚ ૛ൗ  

Write a short note on concept of ratio.   
 

¼c½ lkekU; ,oa Hkkfjr vkSlr esa varj crkb,A                ૠ ૚ ૛ൗ
Distinguish between simple and weighted averages.    

 
5/Unit-5 

 ¼v½ ,d ,ts.V dks 10]000 :- dh fcdzh ij 800 :- deh'ku  

feyrk gSA deh'ku dh nj crkb,A          ૠ ૚ ૛ൗ  

An agent gets Rs. 800 as commission on the sales worth 
Rs. 10,000. Find the rate of commission.  

 

¼c½ ,d nw/k fodzsrk us 100 yhVj nw/k 360 :- esa cspkA mldks  

10% gkfu gqbZA nw/k dk dz; ewY; izfr yhVj crkvksA    ૠ ૚ ૛ൗ  

A milk seller sold 100 liters of milk for Rs. 360. he lost 
10% tell the cost price of milk per liter.  

 

 [3] 
2/Unit-2 
 

 ¼v½ ;fn ܣ = ൥ 2 3 2−1 2 42 0 2
൩ ,   gks rks ܣଶ  Kkr djksA   ૠ ૚ ૛ൗ

  If ܣ = ൥ 2 3 2−1 2 42 0 2
൩   , Find ܣଶ    

 
¼c½ fl) dhft, &            ૠ ૚ ૛ൗ   

Prove that -  
อܽ + 2ܾ ܽ + 4ܾ ܽ + 6ܾܽ + 3ܾ ܽ + 5ܾ ܽ + 7ܾܽ + 4ܾ ܽ + 6ܾ ܽ + 8ܾ

อ = 0 

/OR 
¼v½ ;fn log 2 = 0.3010 rFkk log 3 = 0.4771 gks rks eku  

crkvksA                       ૠ ૚ ૛ൗ    

log 26
51 − log 91

119 
If log 2 = 0.3010 ܽ݊݀ log 3 = 0.4771  than find the value 
of –  

log 26
51 − log 91

119 
 
 

P.T.O.
. 
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 [4] 
 

¼c½ y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, & ૠ ૚ ૛ൗ  

 Find the value using logarithm table –  

ඨ1.287 × 4.682
3.421  

 
3/Unit-3

 ¼v½ ,d O;fDr us 50]000 :- vius yM+ds rFkk yM+dh ds fy, j[ks  

tks vc 12 o’kZ 9 o’kZ ds gSaA ;fn muds Hkkxksa dk /ku 5% 

pdzo`f) C;kt ij cSad esa tek djok;k tk, rks mUgsa 18 o’kZ 

dh vk;q esa leku /kujkf'k izkIr gksxhA izR;sd ds fgLls esa 

fdruk /ku tek djok;k x;k\     ૠ ૚ ૛ൗ  

A man left Rs. 50,000 for his son and daughter who are 12 
and 9 years old in such a way that if their shares be 
invested @5% compound interest annually, they shall 
receive equal amount on reaching 18 years of age. How 
did he divide the money?  

¼c½ 5% okf’kZd C;kt dh nj ls 300 :- dh okf’kZdh ns; dk ikap 

o’kksZa esa feJ/ku rFkk orZeku ewY; Kkr dhft,A        ૠ ૚ ૛ൗ   

 Find the amount and present value of an annuity due of 
Rs. 300 for five years at the rate of 5% per annum 
compounded annually.  

[5] 
/OR 

¼v½ O;kolkf;d txr esa okf’kZd dk egRo Li’V dhft,A   ૠ ૚ ૛ൗ  

Discuss the utility of annuity in the business world.   
          

¼c½ pdzo`f) C;kt ls vki D;k le>rs gSa\ mnkgj.k lfgr  

le>kb,A              ૠ ૚ ૛ൗ  

What do you understand by compound interest? Explain 
with examples.  

4/Unit-4 
 ¼v½ 5 xk; ;k 15 ?kksM+s ,d ?kkl ds eSnku dks 8 fnu esa pj ldrs  

gSaA blls nqxus ?kkl ds eSnku dks 8 xk; o 11 ?kksM+s fdrus 

fnu esa pjsaxs\             ૠ ૚ ૛ൗ  

5 cows or 15 horses can graze a grass field in 8 days. In 
how many days 8 cows and 11 horses will graze twice of 
this grass field?  

 
¼c½ fdlh fo'ofo|ky; Nk= la?k ds pquko esa v/;{k in ds fy, 

nks izR;k'kh FksA 15% Nk=ksa us er ugha Mkys rFkk 64 er voS/k 

?kksf’kr fd, x,A ;fn fot;h izR;k'kh dqy erksa dk 49% 

ikdj 805 erksa ls fot;h gqvk gks rks izR;sd izR;k'kh dks feys 

er Kkr dhft,A      ૠ ૚ ૛ൗ  
P.T.O.
. 


